Algebra 2 Name ID: 1

Chapter 5 Practice Test Date Period

Solve by Graphing. Clearly graph each function marking 5 points; the vertex (V), the axis of
symmetry (AS); the x-intercepts (X). A=l RA=2( £=S
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Solve each equation by taking square roots. Leave solutions as improper fractions in simple
radical form.
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Solve each equation by taking square roots. Leave solutions in simple radical form.
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Simplify. Leave in simple radical form.
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Factor the GCF first.
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Solve each equation by factormg CLEARLY SHOW ALL STEPS.
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Solve each equation with the quadratic formula.
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Simplify. Leave in a+bi form.
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